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Section A {30x 2 =60 marks)

For each question from 1 to 30, four options are given. One of them is the

cotrect answer. Make your choice {1, 2, 3 or 4). Shade the Cormrect oval (1, 2, 3
or 4) on the Optical Answer Sheet.

1. The diagram below shows fwo plant parts.

Potato

Onion

They are the feproductive part of the ptant.
They go through the process of germination.

A

8 .

C: They turn iodine blue as they make food for the young plant.
D: They turn iodine blue as they store food for the young plant

(1} AandC only
(2) AandDonly
(3) Band D oniy
4) A BandC only -
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2. The diagrams show the fertilisation of a human egg.

Fertilised Egg

Four statements were made on the above diégrams:

A: The Sperms develop in the testes of fhe male repfddt‘xi:’ﬁve system.

B: The fertilised egg develops in the ovary of the female feproductive system

C: Usually more than one speinm will e:;ter the egg 1o increase the chances of
fertilisation. - | |

D: The nucleus of the tertilised egg consists of genetic malerials from both the

| Sperm and the eqgq.

Which of the following siatements are true?

{1) Aand D only

2) ABandgC only
) A CandD only-
(4) A, B,Cand D
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3. The diagram below shows a human ‘skeleton

QR,SandT fepresent the different types of joints.

Which one of the following comrectly classifics the joints?

Hinge Joint | Balland Sacket Joint
(1) Qands RandT
(2) SandT “QandR
(3) ‘_—____‘—_6 and R T SandT
@ Rands Qand T
T
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4.

Study the picture carefulty.

Which of the ﬁ)ilowing best describes the number of community and population
of the organisms in the picture? : ' : '

T T Number of T Number of popuiation(s)
Community/Communities '
mi 1 3
@ i 24
3) g T8
4) 8 ' 24

_Country X experiences drought every year. During that period, the soil

mes dry and the plants do not grow well to produce enough grain. People
do not have enough to eat during this period.

- Which is the most effective long term solution fo solve this problem?

{1} Use genetic selection to cross breed parent plants with good genes.

(2} Use genetic engineering lo create grain that has shorter growing period.

(3) Use micro-organisms to ferment the sugar in the grain and store the
energy from the sugar.

(4) Enrich the soil with earthworms so they build channels in the soil to allow
more water reach the soil, |
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6. The diagram below shows the life cycle of a flowering plant. X, Y and 7
fepresent the important processes that take place at certain stages in the life
cycle. More than one process can take place at a stage.

Adult plant with
flowers

Seediing Adult plant with fruits

Seeds

Which of the following table correctly shows processes X, Y-and Z?

Process Letter Process Letter
Dispersal ¥ X Dispersal . Y
| Pollination X Pofiination X
Germination z Gemination Z
Fertifisation Y ?ettitisation Y
v - - %< {2)

[ Process Letter Process Letter
Dispersal z Dispersal Y
Pollination X Pollination X

Gemination ra Germination Z

- Fertilisation Y Fertilisation _ X

) - @
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thermometer

_ f//seed-

- _— wire mesh

- chemical to absorb

- waler — = caibon dioxide

After 24 hours, she removed the set-ups from the cu bo;fd {o obsemve th
position of the red ink_- P o ¢ the

- Which of the foﬂowing statement is true about her observation? |

(1) The red ink will move towards position X in the sel-up with dry seeds.
(2} The red ink wilf move away from position X in the set-up with dry seeds.
(3) Thered ink will move towards position X in the set-up with soaked seeds.

(4) The red ink will move away from position X in the set-up with seaked
seeds. ' ‘ '
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Refer to the experiment below to answer questions 8 and 9.

8.

Vaseline_apptied
on upper surface
of leaves

Vaéeﬁne apbﬁeq

- on fower surface

of leaves

Vaseline applied

_on lower and

upper surface of
leaves

(1) ABCD
2} B8,C,AD
® c.BAD
{4) b,ACB

No Vaseline
applied
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11.

Celine had a plant with some white flowers.

She made 3 cuts on different parts of the plant.

She first performed Cut 1 across the stem to observe the cross-section of the
stem of the plant. The diagram below shows the cress section of the stemn of

_her plant.

Cut 1

Flower

Cui 3

- Inner ring

Outer ting

She then performed Cut 2 to remove the ouler ring of a section of the stem as

shown above. After that she left the plant in a beaker of blue coloured water
for 6 hours.

After 6 hours, she realised her flowers had tumed blue. She performed Cut 3

across the stem, where she had performed: Cut 2, to cbserve arother ¢ross’
section of the stem.
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10. The table below shows some funclions of adaptations belonging to sonie

animals,
Ad aptati on Ft_mc tion
A To breathe in water
B8 To move easily in water
C To protect itself from predators
T D To move on slippery ground '

Which one of the following correctly matches the functions of the adaptations

above?

Adaptation A Adaptation C Adaptation D
()] Sk Tail fins Shel} Padded feet |
(2)|” Gt Chamber Fiippers Shell ‘Oarlike feet
e Gis Streamfined Spines " Feet with stiff
‘ body hair
4) Biowholes Streamiined Camouflage Webbed feet
body

“Adaptation B
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Which of the following shows the cross section
at Cut 37

of the stem that she observed

s : lnner ring of ste
Innefring of stem . g m

(1) (2)

Inner ring of stem tnner ring of stem

(3) _ “)
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12.

The diagrams below show the dispersal of fruits by Plants P, Qand R_

Piant P

Plamt Plant R,
.
Wind direction . Winddirction ¥ Wind dircction ¥
. e . - - P
L * . - - o :'
sag e ™ - - - L » -
- :. L ™ ‘ *.’.:‘.‘00 .1 3
0. - e * -° - - : . .. .: a
- - - e - - !:
- - - .‘
- - -
Study Fruits A, B and C carefully. -
Hairike :
“- Fleshy <
= eolourful
m L]
. a
o
Fruit A Fruit B Fruit C -

Which one of the following shows the correct fruit of Plants P, Q and R?

_ Plant P Plant Q Plant R
M FrtA Frait B Fruit C
@ | fnas Frot A Frot G
@ Froit C Frot A FratB
4) Fruit C Fruit B Fruit A

L
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fi

D: Th f ifls i
e funf:ﬂon of the gills is to cany out gaseous exchange for
Tespiration 1o take place in the fish |

Hhich are #ho wrrect statemonts ?

() AandBonyy .

(2) Band D.only “
(3) B,Candp only
) A.Cand D onyy
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14. 1L .M, O, PandQ are différent organisms found

in a community. The following
statements provide information about these livi

ng things.

P is a food praoducer

L and Q feed on P
OfeedsontL
Q and O are eaten by M.
Which of the following best describes the interdependence of the organisms in
a food weh? '

: RN
\Q\I __ \Q 1
M -\M

@

o

N O,
\Q\L | \Q\L

(3) ~ {4)
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15, The diagram of the heart shows the different blood vessels that camy blood i
It and away from it. Blood vessels A and D cany blood o the heart. Blood
vessels B and C carry blood away from the heart.

blood to lungs (B) blood from lungs {D)

blood from body {A) blood to body (C)
The following bar chart shows the amount of oxygen in 4 different bicod -
samples P, Q, R and S. These blaod samples are taken from “each blovd
vessel as indicated in the heast above.,

4 °
Amount of oxygen
Blood Samples
P Q R S
Which of the following samples corresponds to the blood vessel that carries
most waste products of respiration?
Blood Sampte Bleod Vesse!

(1) P 8

2) Q A

(3) R D A

@ [ s C

-
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16. Fammer Tan grew many plants S in his farm. He noticed insects T visiling the

Which of the following graphs best explains the interactio tw. i
- : nb : _
and plants S based on his findings? - ' belween insects T

-

Population " Populaion
4 _ R

—
No. of years -
. - No. of years
AL @
Population _ E Population
4 : L
S
T
S
T
No. of years . — . >
No. of years

3) _ @
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17.

18.

Sili filed up a 100 cm® beaker with water. She

filled up another 100 cm?

beaker with small marbles. Next, she transferred both the water and the
marbles into a 250 cm® beaker.

N
250 cm® r

L _ )

The volurme occupied by the water and the marbles in the beaker is Tikely to be

. D 100 om?

(2) 200 em®

(3) more than 200 cm® -
(4) between 100 cm® and 200 cm®

Study the set-up below.

BeakerpP

Beaker Q

— m— — L

The temperature of water in both beakers js 30°C at the start of the experiment.

Two objects, X and Y we
respectively. Which one

of the foliowing

re placed into the water in beakers, P and Q

show the observation made after 15

minutes?
Object X Toemperature of ObjectY Yemperature of
- water in P ("C) .| waterin Q(C)
(M| Satay stick 30 Steel rod 50
'-_‘__"'_——___
(2} | Metalspaon 45 Plastic fork 45
()| fron plate 40 Nichrome rod 60
@) Wooden 30 Toothpick 40
chopstick .
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19.

Study the classification chart below.

]

Banana pesl

Glass
Styrofoam cups
D

Newspaper
c

Which of the following is likely to be A, B, C ang D?

A B | Cc - D
{1) aper Plate

Recyctable Non-recyclable Chicken hone

7 DV { Aduminum can |
2 Non-recyciable Recyclable Plastic bottie

hﬁ)—____—__‘_““—‘__“__““m“‘*‘*_

i Non- '
Biodegradabte _ Chicken bone Plastic bottle
. biodegradable :
@ et ¢ S
(4) Non- Paper plate

B_iodegrada_ble Aluminum can

biodegradabie

iR
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20. The following diagram shows three simitar sticks
positions in front of the screen. An even light s

A, BandC, placed at different
shadows of the A, B 5

ource was switched on. and the
hd C, are cast on the screen. :

: ’ Shadows cast
! " onthe screen
Al
— 0],
Light g
source — _, B ﬂ ﬁ
. z
—

(1)

3) .
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21.

Three Containers, A, B and C, are set Uup as shown below. Containers A i made
of the best conductor of heat while conlainer B is the .
All three containe

7S are of the same size and thicknes

Poorest conductor of heat.
. _

r . Amount o-f water ( mi }
S
M} 250 750 500
o s00
@& 70 500 250
) B 750 250 500
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22,

What is the mass of object £7
(1) 1509
(2) 2409
(3) 3509
(4) 4209
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23.  Four metal balls, A, B. C and D, are suspended on a string from the ceifin g.

< |
Cc 1kg
Siab of
/-plasticine
e _ — .

* ‘ Depthof -
O depressian
- made by C
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Which of the graphs below shows the most possible depth of the depressions
made by the four metal balls A, 8, C and D? :

(1) @
Jr Jr
§ _ 5] -
5 < [ s [ [
£6 £8
Q% 35
23 88 ” -
a ol 1T
o &
k-] . o J
> . - -
A B ¢ D g A B C D g
3) (4)
Jr F \ -
P f_ g r
Q= w—
£ 5 ° = :
Q& £ 5 '
D & oG -
Qe o @
5 S8 ” |
3 i 5 TN
-U L
A B C D Batl A B C D Batt
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24,

Non

]

Which of the following correctly identf;

l Magnetic l ]

l Magnetic I

Le]

es the matter given?

Study the classification chart below carefully_
- A
| Electrical Electkricat
Conductors Insulators
Have a definite Havea Have a definite . Have a
volume but no definite shape volume but no definite shape
definite shape and volume definite shape and volume
Non Non -
Magnetic Magaetic Magnetic
c ]

Gil IronRod | Atuminium Foil | Porceiain Cup
(1) C D E. J
2 E H J F
(3) G C { J
@[] @ F £ i
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25. Some Primg i
1Y 6 pupits used- : - -
fo move a foad of 2 gkg- each of the four simple machines as shown below

Which : i :
of the machines required the pupils to use an effort of at least 20kg?

{1) AandpD only
(3 CandpDony
3 A BandD only
) A.B,CandD
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26.

Sally is given four new materdals, P, Q, R
its own properties shown in the table below.

and S. Each of these substances has

Matesial [ Melfing Point Boiling Point | Breaks easily [~ Doesnot -
{°C}) °C} when hit _ break easily
when hit
P o 68 ' A
Q 10 200 [ ¥ ]
R 190 450 v
S 335 655 {
Sally is makmg 2 decision to chaose a durable matesial tomake the heating

Based on the informatio

she choose?
ay p

2
3
“)

0w P

IK

n given above, which material, P, Q, R and S, should
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27. A circuit was set up as shown in the diagram below. The bulb did not light up.

ﬁ-——— - P '1+— switch arm

What can be done to light up the bulb?

A.  Move the wire from Y to Z.
B. Position the switch arm at XY instead of YZ.
C.  Connect one end of the wire to the metal tip of the buib.

(1) Aonly

(2} AandBonly
(3) BandConly
{4} A, BandcC
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28. Nadia had three feds, X, Y and Z, made of different materials. She placed
them in positions as shown in the circyit below. Al the bulbs, batteries and

wires are in working condition

|
Copper ﬁ“EEEE;TE_‘—-‘__“TsTEs‘s““*

2) | Aluminium Glass _ Copper
(3) Rubber W‘“ﬁ@‘_ﬁ
EWWW
mw————______w

m
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29.  Study the diagram below.

Earth Moon

Which of the following shows what the Maoon looks like when a person views it
from point X?

m - (2) u
. (3) - . - - -

30.  In a hydro-electric power station, running water is used to produce electricity.
Which of the foliowing statements correctly describes the processes that take
- Place in a hydro electric power station? :

A The water behind the dam possesses gravitational potential
energy.

B:  Water is being heated to form steam in order to produce
electrical energy.

C:  The Kinetic energy of running water is converted to electrical
energy

D:  The running water cools the steam to produce more water to turn
the turbine.

(1) Aandc only
{2} Bandp only
3) A .BandD only
(4) A .Cand D only
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SECTION 8: 40 Marks
_- For questions 31 to 48, write your answers in the spaces provided,
The number of marks avai is. i

end of each question or part question,

31 The diagrams beiow
of plant as seen unde: QObserve them carefully and answer
the questions that follow. -

Specimen Celi A .

Specimen Caell B

(a) Based on the diagrams, state the part of the celi th

: atis different between
Specimen Cell A and Specimen Celi 8, [1]

(b}  Which part of the plantis Specimen A usually found? f1]

—




2009 - P6 - SC — SA2 — Methodist Girls

32. The flow chart shows how energy to do work is obtained from food.

L Food | |
B breaks down completely 1
l beeomes dlgeslid food (glucose) l
[ enters biodstreém ' ]

v

I transported 1o the cells in all parts ofﬂwb_odyi '

T .

l L reacts with Oxygen _ I
¥
L produces energy 1o do work 1

(@) Using the information in the flow chart, identify the systems in our bt‘:dy‘lthéit'
work together for energy to be released from food. {1) -

gha:’u_)a Saw a can of energy drink on the shelf of a supermarket. The label on
e drink read *Quick Energy”. She did not understand how the drink could
provide quick energy. 7She turned to look at the ingredients of the drink.

L Ingredients: Wateér, Glucose, Ca!cium;l'vitamin D. -

(b) Identify the ingredient that provides ‘Quick Energy'? {1}

- _(c) ?Explain how the ingredient is able to provide ‘Quick Energy' {1]
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33. S_imon was doing a research on the human fespiratory systern. He
!dtscovered that numerous thin blood vessels surrounded-the ajr sacs in the
ungs. '

‘windpipe

In his study of the topic, ‘The Heart- A Muscular Pump’, Simon feamt that the
walls of some blood vessels, like arteries, that catry blood 1o all parts of the
body are very thick. He asked his friend who caried out an investigation on
three different grades of balloon of different thickness to explain to him the
purpose of a thick wall in an artery. ' '

Method: .
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=1 D
: _ :Diameter of balloon
[P |

Before " After eshaling
Resuits: _ )
Grade of Balloon Thickness of Diameter of balloon

S balloon {cm) _ {em)

A ) O1cm - Could not record

' {Bursts)
B 0.3 cm . 15 cm
C © 0.5cm Jcm

(b} Based on the results, explain why the wall of the artery that carries blood from
the heart to the body is thick? 1 | |
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34.  Jerylset-up an Experiment as shown below. S

he left the setups in the Science
laboratory for 2 hours, _

Qir pump

Substaﬂm that g
absorbs carbon-dioxide.,

Substance that
absorbs. carbon-dioxide.

Fresh fish

air pump

-Substance tha:
absorbs carbon-dioxide.

Dried fish
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{a} Inwhich Se!—up will imewater be most chalky after two hours? Why? {2]

{b) How does the substance that absorbs carbon-dioxide make the experiment an
accurate one? [1]

35.  Study the food chain below.

maizeplant ___, pat — Shake ____ eagle

(a) Theletters A, B, Cand Don the pyramid represent the number of living things
in the above food chain.

{dentify the letters in the pyramid

that belong to the respective living things in
the food chain above. 21 '

Maize Plant Rat " Snake Eagle
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(b}

{c)

The fammer decides to set rat traps to kil the rats in his field as they are
destroying his maize plants. : '

The graph below shows the effect of. the death of the rats on the other fiving
things in the food chain_ ) ‘ :

Nao. of living things

Time
Identify Animals X and Y of the food chain fepresented in thei graph abové. [1}

X

Y:

——

Suggest a way how the famner could use biotechnology instead of rat traps to

“help him protect hig crops from rats. [1]
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36. The diagram below shows bird Q. This bird is found in countty R that
expefiences short summers and long winters. They swim in the water to source
for their food. ' :

However, it is found in the rich mudflats of Sungei Buloh Nature Reserve in

Singapore between September and March when ils origin country expetiences
cold winter. : ;

Based on the information given above about bird Q, which one of the above
feet structures do you think it most likely has? Why? {1]

(b) Based on the information above, explain a behavioural adaptation that bird Q
adopts. {1]
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Tiny draplets of water
Water vapour Drogletsof water
coming together to form

bigger draps

=\

Water retums to
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Ravi feft the set-up below in a basket balt court to investigate the effect of the

the e T cycle. A day later, he collected 5mi of water in

droplets of water

.

how it acts as a control? {1}
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39. Complete the diagram below by drawing wires and two switches, A and B, so that
the following observations can be observed.

Label the swilches ((® o _). Aand
B in the diagram. 12}
ﬁ Switch Bulb/s that light/s up when the
switch is closed
- Close A only Bulb 1 enly
Close B only Bulb 2 and Buib 3
Power Suppiy
Bulb 1
Bub2 Bulb 3

&9 &

i3
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Set-up A - —
(length of copper bar- 4 cm) Setup 8
(thickness of capper bar- 1 cm) (fength of copper bar: 3 cm)

{thickness of copper bar- 3“em)

Setup C
(t_eng,th of copper bar: 3 cmy)
(thickness of copper bar: 3 cm)

(@) Osman told Winifred that her experirnent would not

What should Wiaif;

. "> work as it is not a fair fest.
red do to improve her sef-ups? [2)

(b) What can Winifred do to ensure the accuracy of her experiments? ]
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41. Sheila’arranged five magnets to form.the figure shown below.

|

E . 'FD.i:‘-— 4|

G H

@ i part Ais a North pole, which pole is part G2 [1]

(b) :I;he diagram below shows how Sheita tried to move the iron nail from the base of
€ container o its brim by pulling a bar magnet along the side of the container.

_—— Container

— _1— Water

\_ fék"a# Iron nail

| Slt:e found that she coutd not move the iron nait. State two possibla reasons why
- She could not move the iron nail. {21

Reason 1

Reason 2-

15 =
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42. The diagram below shows twa si

Beaker A
['/ hole
< . hole
 { I
I f I
(a) After some tima, it was Gbserved that the beam tited to one side. Which is the
heavier beaker? Explaify your answer. {1]

{b)} Study the diagram below. . -

Without adding or remaoving anything, what would yYou do {6 batance the beam?

{1
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PIQASHC

43. Sam built a catapult using subber bands, ice-cream sticks and a metal spoon as

_ {a)

(b)

shown in the diagram below.

Twlstéd .

rubber
band
‘Rubber B g : _ ' s '
: bhand o : _ R I

He placed a piece of eraser on the spoon and pushed the spoon Scm back from
its original position indicated by the amrow as shown in the diagram. When hedet

~go of the spoon, the eraser fiew forward.

His friend, Tom, said that one way to shoot the same eraser further without

- changing the spoeriis o push the spoon further back from its ofiginal position.

Do you agreé with Tom? Give a reason for your answei_ [1}

Suggest another way that Sam can do to the rubber bands so that he can shaot
the eraser further without changing the spoon. [1}

17
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(3) Explain how frees in a forest help to prevent or feduce 3ol erosion.

- 11]

(b} Ifaiot of Iose soil has been washed

! ) into-a river, what do
the aquatic Organisms? Explain your

you tink will happen to
answer. {1}. o

—

_—

18
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45.

(@)

{b)

Equal amounts of boiling water wete poured into two comtainers, A and B, which
were of similar shape and-size. The containers were then tightly sealed and left in
the field for an hour. o :

Container A | Container 8
The table shows the Hime: the wél_;er in each container took to cool to room
temperature. e S . ' ’

Container T Tirhe taken o cool to roem lemparature ()
A e
B .~ { - T35

Suggest why the watér in the two containers took different lengths of time to cqol
to room temperature, [1] - _ -

The experiment was fepeated with a copper rod placed only in container A

Copper
rod

Container A Container B

- The table shows the time the water in each container took to cool to room

temperature.

s

Container Time taken to cool to room temperature {mins)
A 15
. B 25

Explain why there is a difference in the time taken for the water in container A to
cool to room temperature. {1
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46. The diagram below shows

how a buib, a piece ¢
are connected to 2 metaj plates which are dippe

—— &

wire

(@) Whenthe switch is closed, the bulb fights up ang -
and glows. What doas this tell you about liquid Q7

(b) Complete the €nergy conversions that occur in the
that cause the pi

chrome wire to become hot and ¢

L

Energy {'ba!tery) Energy (wire)

{c) Without femoving

or adding more bulbs, what couk
amount of heat

produced in the circuit?2 1]

-__'__‘——-—_______

_'_'_"__—-"—-——-_..__...__“____

20
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Answer

-~

31)a)Chloroplast. -b)!'ea ves.

32)a)bigestive system circulatory system respiratory system.
b)Glucose.
c)Glucose can be used by the cells during respiration without
having to under digestion.

33)a)it is to enable blood gaseous go to the blood vessels quickly.
b)Itisto prevent the blood vessels from bursting due tothe
force of the blood.

34)a)Set-up B it had decomposed the fastest as it contained the
most moisture. The fish produced the most carbon dioxide that

reacted with limewater.
dioxide given off during decomposition and not dueto the car.

35)a)b, C, B, A

EXAM PAPER 2009

SCHOOL : MGS PRIMARY

SUBJECT : PRIMARY 6 SCIENCE

TERM : SA2

Q1 [ Q2] Q3] 04051061 Q7] 08| Q9 o10]q1i]on[oB3]quaaIs]Qi6| o
2 {1 j2}l1{2fjal3t3{2}3fa4ij3]2]12]1137]24
Q181 Q19{Q20§ Q21 { Q221 Q23| Q24 | Q25 Q26 { Q27 { Q28 | Q29 | Q30
3i3jajaf213fal3{3]3({21a}a1

b)It confirms that the limewater turns chalky due to the carbon

b)X: Maize plants  Y: Snake

Quse 3&\&.‘; 'fleemzj o make the crtpe ot restest.
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36)a)Structure B. The webbed feet help them to swim and
therefore when their county experiences winter, the water tums
into ice as a result, they will come to Singapore.

b)It migratesto a warmer place to avoid cold.

C)The oil spifl had damaged the feathers of the bird, hence itis -
unable to fly to Sungei Buloh to escape cold winter.

37)a)i)heat loss ii)heat gain.
b)1t is to confirm thatthe water droplets on the plastic sheet
due to the presence of the plants, ‘

38)a)Gas has no definite shape and no definite'volume. .
b)Gopal would not be able to see if the gas would spread from
Jar A to B if he uses a colour less gas.

Pls

39)

B

<

et

40)a)in-set-up A, the length of the copper bar should be the one as
the ones in set-up B and C. In set-up B, the batteries should be
arranged in series instead of parallel.

b)Repeat the experiment survival times.

41)a)North pole. _
b)1)The magnet might be too weak to attract the iron nail.
2)The container might be a magnetic material and magnetism
- could not pass through.

42)a)The hole in A is higher than that the hole in beaker B

therefore less water is lost in beaker A therefore it has more wate

than beaker B thus, A is heavier. :
b)Move A closer to the center.
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43)a)Yes. The rubber bands are stretched further. Theré will bé
more potential energy which will be converted to more kinetic

energy. _
b)Twist the rubber and more.

44)a)The roots:of the trees hold the soil together.

b)The soil blocks out light that enters the water for the water
plants to photosynthesize. As a result, less oxygen is produced.
The aquatic organisms may suffocate and die.

45)a)The containers are made of different materials and container
B s a better conductor of heat than A. - o

b)The copper rod helps the water in container A.to.cool faster
as itis a good conductor of heat therefore it loses heat easily.

46)a)tiquid Qis a good conductor of electricity.
b)Chemicat potential-> Electrical> Heat + Light
c)Add more batteries, '
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